



## QUASI CONVOLUTION RESULTS FOR CLASSES RELATED TO $q - p$ - SÄLÄGEAN OPERATOR

R. A. NASER, A. O. MOSTAFA, S. M. MADIAN

ABSTRACT. By using  $q$ -difference operator and  $p$ -Sälägean operator, we defined  $q - p$ - Sälägean operator. We defined a new class of close-to convex function associated with  $q - p$ - Sälägean operator. Also, we obtained coefficient estimate theorem for this class. Several modified-Hadamard product for this class are introduced.

### 1. INTRODUCTION

Let  $T(p, j)$  be the class of functions

$$f(z) = z^p - \sum_{k=p+j}^{\infty} a_k z^k (a_k \geq 0, p, j \in \mathbb{N} := \{1, 2, 3, \dots\}), \quad (1)$$

that are analytic in  $\mathbf{U} = \{z \in \mathbb{C} : |z| < 1\}$ . The  $q$ -difference operator, which was introduced by Jackson ([11]), and see also ([1]-[3],[5],[6],[9],[16],[17] and [10]) is defined by

$$\partial_q f(z) = \begin{cases} \frac{f(z) - f(qz)}{(1-q)z} & \text{if } z \neq 0 \\ f'(0) & \text{if } z = 0 \end{cases}.$$

For  $f(z)$  given by (1)

$$\partial_q f(z) = [p]_q z^{p-1} - \sum_{k=p+j}^{\infty} [k]_q a_k z^{k-1},$$

where,

$$[k]_q = \frac{1 - q^k}{1 - q}, \text{ and, as } q \rightarrow 1^- \Rightarrow [k]_q \rightarrow k. \quad (2)$$

Now we define  $q - p$ - Sälägean operator by

$$D_{p,q}^0 f(z) = f(z)$$

2020 *Mathematics Subject Classification.* 30C45.

*Key words and phrases.* Analytic functions,  $q$ -difference operator, Hadamard product, negative coefficients, close-to-convex functions.

Submitted Dec. 21, 2022. Revised Jan. 2, 2023.

$$D_{p,q}^1 f(z) = \frac{z}{[p]_q} \partial_q(f(z)) = z^p - \sum_{k=p+j}^{\infty} \frac{[k]_q}{[p]_q} a_k z^k,$$

$$D_{p,q}^2 f(z) = \frac{z}{[p]_q} \partial_q(D_{p,q} f(z)),$$

and

$$D_{p,q}^n f(z) = \frac{z}{[p]_q} \partial_q(D_{p,q}^{n-1} f(z))$$

$$= z^p - \sum_{k=p+j}^{\infty} \left( \frac{[k]_q}{[p]_q} \right)^n a_k z^k, \quad n \in \mathbb{N} = \mathbb{N} \cup \{0\}. \quad (3)$$

Note that:

- (i) Putting  $q \rightarrow 1^-$  in (3) we have the operator  $D_p^n$  which was introduced and studied by Shenen et al [15], Kamali and Orhan [12], Aouf and Mostafa [7] and Aouf et al [8];
- (ii) Putting  $p = 1, q \rightarrow 1^-$  in (3) we have the Sălăgean operator  $D^n$  ([14]).

**Definition 1.1.** For some  $\alpha$  ( $0 \leq \alpha < [p]_q$ ) and  $\beta$  ( $0 < \beta \leq 1$ ), a function  $f(z) \in T(p, j)$  is in the class  $T_{p,q}(n, j, \alpha, \beta)$  if it satisfies

$$\left| \frac{\frac{\partial_q(D_{p,q}^n f(z))}{z^{p-1}} - [p]_q}{\frac{\partial_q(D_{p,q}^n f(z))}{z^{p-1}} + [p]_q - 2\alpha} \right| < \beta. \quad (4)$$

The object of this paper is to introduce a new class  $T_{p,q}(n, j, \alpha, \beta)$  by using the definition  $q$ -difference operator and  $q-p$ -Sălăgean operator. As well as we calculate the coefficient estimates for functions belong to this class. Also we get modified Hadamard product for functions in this class.

## 2. COEFFICIENTS ESTIMATES FOR THE FUNCTIONS BELONGS TO $T_{p,q}(n, j, \alpha, \beta)$

Unless otherwise mentioned, let  $0 \leq \alpha < [p]_q, p, j \in \mathbb{N}, 0 \leq q < 1, 0 < \beta \leq 1$  and  $n \in \mathbb{N}$ .

In this section, we will calculate the coefficients estimate theorem for the functions belongs to the class  $T_{p,q}(n, j, \alpha, \beta)$ .

**Theorem 2.1.** Let  $f(z)$  be given by (1), then  $f(z) \in T_{p,q}(n, j, \alpha, \beta)$  if and only if

$$\sum_{k=p+j}^{\infty} (1 + \beta) [k]_q \left( \frac{[k]_q}{[p]_q} \right)^n a_k \leq 2\beta([p]_q - \alpha). \quad (5)$$

*Proof.* Assume that (5) holds, we find from (1), (4) that

$$\begin{aligned} & \left| \partial_q(D_{p,q}^n f(z)) - [p]_q z^{p-1} \right| - \beta \left| \partial_q(D_{p,q}^n f(z)) + [p]_q z^{p-1} - 2\alpha z^{p-1} \right| \\ &= \left| \sum_{k=p+j}^{\infty} [k]_q \left( \frac{[k]_q}{[p]_q} \right)^n a_k z^{k-1} \right| - \beta \left| 2([p]_q - \alpha) z^{p-1} + \sum_{k=p+j}^{\infty} [k]_q \left( \frac{[k]_q}{[p]_q} \right)^n a_k z^{k-1} \right| \\ &\leq -2\beta([p]_q - \alpha) |z|^{p-1} + (1 + \beta) \sum_{k=p+j}^{\infty} [k]_q \left( \frac{[k]_q}{[p]_q} \right)^n a_k |z|^{k-1} \\ &< -2\beta([p]_q - \alpha) + (1 + \beta) \sum_{k=p+j}^{\infty} [k]_q \left( \frac{[k]_q}{[p]_q} \right)^n a_k \leq 0. \end{aligned}$$

Hence, by the maximum modulus theorem, we have

$$\left| \frac{\frac{\partial_q(D_{p,q}^n f(z))}{z^{p-1}} - [p]_q}{\frac{\partial_q(D_{p,q}^n f(z))}{z^{p-1}} + [p]_q - 2\alpha} \right| < \beta,$$

thus,  $f(z) \in T_{p,q}(n, j, \alpha, \beta)$ .

Conversely, let  $f(z) \in T_{p,q}(n, j, \alpha, \beta)$ , then from (4), we find that

$$\left| \frac{\frac{\partial q(D_{p,q}^n f(z))}{z^{p-1}} - [p]_q}{\beta \frac{\partial q(D_{p,q}^n f(z))}{z^{p-1}} + \beta([p]_q - 2\alpha)} \right| = \left| \frac{\sum_{k=p+j}^{\infty} -[k]_q \left(\frac{[k]_q}{[p]_q}\right)^n a_k z^{k-1}}{2\beta([p]_q - \alpha)z^{p-1} - \beta \sum_{k=p+j}^{\infty} [k]_q \left(\frac{[k]_q}{[p]_q}\right)^n a_k z^{k-1}} \right| < 1.$$

Now, since  $Re(z) \leq |z|$  for all  $z$ , we have

$$Re \left\{ \frac{\sum_{k=p+j}^{\infty} [k]_q \left(\frac{[k]_q}{[p]_q}\right)^n a_k z^{k-1}}{2\beta([p]_q - \alpha)z^{p-1} - \beta \sum_{k=p+j}^{\infty} [k]_q \left(\frac{[k]_q}{[p]_q}\right)^n a_k z^{k-1}} \right\} < 1. \quad (6)$$

Now, choose values of  $z$  on the real axis so that  $\frac{\partial q(D_{p,q}^n f(z))}{z^{p-1}}$  is real and letting  $z \rightarrow 1^-$  through real values, we have

$$\sum_{k=p+j}^{\infty} [k]_q \left(\frac{[k]_q}{[p]_q}\right)^n a_k \leq 2\beta([p]_q - \alpha) - \beta \sum_{k=p+j}^{\infty} [k]_q \left(\frac{[k]_q}{[p]_q}\right)^n a_k.$$

This gives the required condition.  $\square$

### 3. MODIFIED-HADAMARD PRODUCT THEOREMS FOR $T_{p,q}(n, j, \alpha, \beta)$

In this section, we will introduce new theorems for modified Hadamard product for the functions belongs to the class  $T_{p,q}(n, j, \alpha, \beta)$ . As will as, we will get the sharp function.

Let  $f_v (v = 1, 2, \dots, s)$  be defined by

$$f_v(z) = z^p - \sum_{k=p+j}^{\infty} a_{k,v} z^k \quad (a_{k,v} \geq 0). \quad (7)$$

The modified Hadamard product of  $f_1$  and  $f_2$  is defined by

$$(f_1 * f_2)(z) = z^p - \sum_{k=p+j}^{\infty} a_{k,1} a_{k,2} z^k. \quad (8)$$

**Theorem 3.2.** Let  $f_v(z) \in T_{p,q}(n, j, \alpha_v, \beta) (v = 1, 2, \dots, s)$  defined by (7), then  $(f_1 * f_2 * \dots * f_s)(z) \in T_{p,q}(n, j, \omega, \beta)$ , where

$$\omega = [p]_q - \frac{\prod_{v=1}^s ([p]_q - \alpha_v)}{\left[ (1 + \beta)[p + j]_q \left(\frac{[p+j]_q}{[p]_q}\right)^n \right]^{s-1}}. \quad (9)$$

The result is sharp for the functions

$$f_v(z) = z^p - \frac{2\beta([p]_q - \alpha_v)}{(1 + \beta)[p + j]_q \left(\frac{[p+j]_q}{[p]_q}\right)^n} z^{p+j}. \quad (10)$$

*Proof.* To prove the Theorem we will use the mathematical induction. For  $s = 1$ . we see that  $\gamma = [p]_q - \alpha_1$ . For  $s = 2$ , Theorem 1 gives

$$\sum_{k=p+j}^{\infty} \frac{[k]_q (1 + \beta) \left(\frac{[k]_q}{[p]_q}\right)^n}{2\beta([p]_q - \alpha_v)} a_{k,v} \leq 1 \quad (v = 1, 2). \quad (11)$$

This gives that

$$\sum_{k=p+j}^{\infty} \frac{[k]_q(1+\beta) \left(\frac{[k]_q}{[p]_q}\right)^n}{\sqrt{\prod_{v=1}^2 2\beta([p]_q - \alpha_v)}} \sqrt{a_{k,1}a_{k,2}} \leq 1. \quad (12)$$

To prove the case where  $s = 2$ , we have to find the largest  $\omega$  such that

$$\sum_{k=p+j}^{\infty} \frac{[k]_q(1+\beta) \left(\frac{[k]_q}{[p]_q}\right)^n}{2\beta([p]_q - \omega)} a_{k,1}a_{k,2} \leq 1, \quad (13)$$

such that

$$\frac{\sqrt{a_{k,1}a_{k,2}}}{2\beta([p]_q - \omega)} \leq \frac{1}{\sqrt{\prod_{v=1}^2 2\beta([p]_q - \alpha_v)}}. \quad (14)$$

Then, using (12), we need to find the largest  $\omega$  such that

$$\frac{1}{2\beta([p]_q - \omega)} \leq \frac{[k]_q(1+\beta) \left(\frac{[k]_q}{[p]_q}\right)^n}{\prod_{v=1}^2 2\beta([p]_q - \alpha_v)}, \quad (15)$$

that is

$$\omega \leq [p]_q - \frac{\prod_{v=1}^2 2\beta([p]_q - \alpha_v)}{2\beta[k]_q(1+\beta) \left(\frac{[k]_q}{[p]_q}\right)^n}. \quad (16)$$

Defining the function  $\vartheta(k)$  by

$$\vartheta(k) = [p]_q - \frac{\prod_{v=1}^2 2\beta([p]_q - \alpha_v)}{2\beta[k]_q(1+\beta) \left(\frac{[k]_q}{[p]_q}\right)^n}, \quad (17)$$

we see that  $\vartheta'(k) \geq 0$  for  $k \geq p+j$ . This implies that

$$\omega \leq \vartheta(p+j) = [p]_q - \frac{\prod_{v=1}^2 2\beta([p]_q - \alpha_v)}{2\beta[p+j]_q(1+\beta) \left(\frac{[p+j]_q}{[p]_q}\right)^n}. \quad (18)$$

Therefore, the result is true for  $s = 2$ .

Suppose that the result is true for any positive integer  $s$ . Then we have  $(f_1 * f_2 * \dots * f_s * f_{s+1})(z) \in T_{p,q}(n, j, \nabla, \beta)$ , where

$$\nabla = [p]_q - \frac{([p]_q - \omega)2\beta([p]_q - \alpha_{s+1})}{[p+j]_q(1+\beta) \left(\frac{[p+j]_q}{[p]_q}\right)^n}. \quad (19)$$

After simple calculations, we have

$$\nabla = [p]_q - \frac{\prod_{v=1}^{s+1} 2\beta([p]_q - \alpha_v)}{2\beta \left[ [p+j]_q(1+\beta) \left(\frac{[p+j]_q}{[p]_q}\right)^n \right]^{s-1}}. \quad (20)$$

Thus the result is true for  $s+1$ , the results is true for any positive integer  $s$ .

Putting  $\alpha_v = \alpha$  ( $v = 1, 2, \dots, s$ ) in Theorem 2, we have :

**Corollary 3.0.** *If  $f_v(z) \in T_{p,q}(n, j, \alpha, \beta)$  ( $v = 1, 2, \dots, s$ ), then  $(f_1 * f_2 * \dots * f_s)(z) \in T_{p,q}(n, j, \omega_1, \beta)$ , where*

$$\omega_1 = [p]_q - \frac{[2\beta]^{s-1}([p]_q - \alpha)^s}{\left[ [p+j]_q(1+\beta) \left(\frac{[p+j]_q}{[p]_q}\right)^n \right]^{s-1}} \quad (21)$$

The result is sharp for the functions

$$f_v(z) = z^p - \frac{2\beta([p]_q - \alpha)}{(1+\beta)[p+j]_q \left(\frac{[p+j]_q}{[p]_q}\right)^n} z^{p+j} \quad (22)$$

Putting  $\beta = 1$  in Theorem 2, we have:

**Corollary 3.0.** *If  $f_v(z) \in T_{p,q}(n, j, \alpha_v, 1) = T_{p,q}(n, j, \alpha_v)$  ( $v = 1, 2, \dots, s$ ), then  $(f_1 * f_2 * \dots * f_s)(z) \in T_{p,q}(n, j, \gamma)$ , where*

$$\gamma = [p]_q - \frac{\prod_{v=1}^s ([p]_q - \alpha_v)}{\left[ [p+j]_q \left( \frac{[p+j]_q}{[p]_q} \right)^n \right]^{s-1}}. \tag{23}$$

The result is sharp for the functions

$$f_v(z) = z^p - \frac{([p]_q - \alpha_v)}{[p+j]_q \left( \frac{[p+j]_q}{[p]_q} \right)^n} z^{p+j} \quad (v = 1, 2, \dots, s). \tag{24}$$

□

**Theorem 3.3.** *If  $f_v(z) \in T_{p,q}(n, j, \alpha_v, \beta)$  ( $v = 1, 2, \dots, s$ ), then*

$$h(z) = z^p - \sum_{k=p+j}^{\infty} \left( \sum_{v=1}^s a_{k,v}^2 \right) z^k \tag{25}$$

belongs to  $T_{p,q}(n, j, \omega_2, \beta)$  where

$$\omega_2 = [p]_q - \frac{s[2\beta([p]_q - \alpha_0)]^2}{2\beta(1 + \beta)[p+j]_q \left( \frac{[p+j]_q}{[p]_q} \right)^n} \quad (\alpha_0 = \min\{\alpha_1, \alpha_2, \dots, \alpha_s\}). \tag{26}$$

The result is sharp for the functions  $f_v(z)$  given by (10).

*Proof.* Since Theorem 2 gives

$$\sum_{k=p+j}^{\infty} \left\{ \frac{(1 + \beta)[k]_q \left( \frac{[k]_q}{[p]_q} \right)^n}{2\beta([p]_q - \alpha_v)} \right\}^2 a_{k,v}^2 \leq \left\{ \sum_{k=p+j}^{\infty} \frac{(1 + \beta)[k]_q \left( \frac{[k]_q}{[p]_q} \right)^n}{2\beta([p]_q - \alpha_v)} \right\}^2 \leq 1, \tag{27}$$

then, for ( $v = 1, 2, \dots, s$ ) we have:

$$\sum_{k=p+j}^{\infty} \frac{1}{s} \left\{ \frac{(1 + \beta)[k]_q \left( \frac{[k]_q}{[p]_q} \right)^n}{2\beta([p]_q - \alpha_v)} \right\}^2 \left( \sum_{v=1}^s a_{k,v}^2 \right) \leq 1. \tag{28}$$

So, we may find the largest  $\omega_2$  such that

$$\sum_{k=p+j}^{\infty} \left\{ \frac{(1 + \beta)[k]_q \left( \frac{[k]_q}{[p]_q} \right)^n}{2\beta([p]_q - \omega_2)} \right\} \left( \sum_{v=1}^s a_{k,v}^2 \right) \leq 1. \tag{29}$$

Inequalities (28) and (29) leads to

$$\omega_2 \leq [p]_q - \frac{s[2\beta([p]_q - \alpha_v)]^2}{2\beta(1 + \beta)[k]_q \left( \frac{[k]_q}{[p]_q} \right)^n},$$

that is

$$\omega_2 \leq [p]_q - \frac{s[2\beta([p]_q - \alpha_v)]^2}{2\beta(1 + \beta)[p+j]_q \left( \frac{[p+j]_q}{[p]_q} \right)^n}. \tag{30}$$

This completes the proof

□

Putting  $\alpha_v = \alpha$  ( $v = 1, 2, \dots, s$ ) in Theorem 3, we have:

**Corollary 3.0.** *If  $f_v(z) \in T_{p,q}(n, j, \alpha_v, \beta)$  ( $v = 1, 2, \dots, s$ ), and  $h(z)$  is defined by (25), then  $h(z) \in T_{p,q}(n, j, \omega_3, \beta)$ , where*

$$\omega_3 = [p]_q - \frac{s[2\beta([p]_q - \alpha)]^2}{2\beta(1 + \beta)[p+j]_q \left( \frac{[p+j]_q}{[p]_q} \right)^n}. \tag{31}$$

The result is sharp for the functions defined by (22).

Putting  $\beta = 1$  in Theorem 3, we have:

**Corollary 3.0.** *If  $f_v(z) \in T_{p,q}(n, j, \alpha_v)$  ( $v = 1, 2, \dots, s$ ), and  $h(z)$  is defined by (25), then  $h(z) \in T_{p,q}(n, j, \omega_4)$ , where*

$$\omega_4 = [p]_q - \frac{s[(p]_q - \alpha_0)^2}{([p+j]_q \left(\frac{[p+j]_q}{[p]_q}\right)^n)} \quad (\alpha_0 = \min\{\alpha_1, \alpha_2, \dots, \alpha_s\}) \quad (32)$$

The result is sharp for the functions defined by (23).

**Remark 1.** *Putting  $n = 0, q \rightarrow 1$  in the above results we get the result of ([4]).*

#### 4. Conclusions

Throughout the paper, we used the definition of  $q$ -difference operator and  $p$ -Sălăgean operator to introduce the operator  $q-p$ -Sălăgean operator. Also, we use this operator to introduce the class  $T_{p,q}(n, j, \alpha, \beta)$ . After that, we calculate the coefficient estimates for functions belong to this class. As will as, we get modified Hadamard product for functions in this class. Finally, we obtained the sharpness function for our results.

#### Acknowledgments

We would like to thank the referees for their valuable comments and helpful suggestions.

#### REFERENCES

- [1] M. H. Abu-Risha, M. H. Annaby, M. E. H. Ismail and S. Mansour, Linear  $q$ -difference equations, *Z. Anal. Anwend.* 26 (2007), 481-494.
- [2] O. Altintas and N. Mustafa, Coefficient bound and distortion theorems for the certain analytic functions, *Turk J. Math.*, 43(2019), 985-997.
- [3] M. H. Annaby and Z. S. Mansour,  $q$ -Fractional Calculus and Equations, Lecture notes in Math., vol. 2056. Springer, Berlin 2012:
- [4] M. K. Aouf, The quasi-Hadamard product of certain  $p$ -valent functions with negative coefficients, *Bull. Korean. Math. Soc.*, 44 (2007), No. 4, pp. 597-606.
- [5] M. K. Aouf and A. O. Mostafa, Subordination results for analytic functions associated with fractional  $q$ -calculus operators with complex order, *Afr. Mat.*, 31 (2020) ; 1387-1396:
- [6] M. K. Aouf and A. O. Mostafa, Some subordinating results for classes of functions defined by Sălăgean type  $q$ -derivative operator, *Filomat.*, 34 (2020) ; no. 7; 2283-2292:
- [7] M. K. Aouf and A.O. Mostafa, On a subclass of  $n-p$ -valent prestarlike function, *Comput. Math. Appl.*, 55 (2008), 851-861.
- [8] M. K. Aouf, T. Bulboaca and A.O. Mostafa, Subordination properties of  $p$ -valent function defined by Sălăgean operator, *Complex Variables and Elliptic Equations*, (2009), 1-55.
- [9] M. K. Aouf, A. O. Mostafa and R. E. Elmorsy, Certain subclasses of analytic functions with varying arguments associated with  $q$ -difference operator, *Afrika Math.*, 32 (2021), 621-630.
- [10] A. Aral, V. Gupta, and R. P. Agarwal, *Applications of  $q$ -Calculus in Operator Theory*, Springer, New Yourk, USA, 2013.
- [11] F.H. Jackson, On  $q$ -functions and a certain difference operator, *Trans. R. Soc. Edinb.* 42(1909), 253-281.
- [12] M. Kamali and H. Orhan, On a class of certain starlike functions with negative coefficients, *Bull. Korean Math. Soc.*, 41(2004), 53-71.
- [13] A. O. Mostafa and M. K. Aouf, Neighborhoods of certain  $p$ -valent analytic functions with complex order, *Comput. Math. Appl.*, 58 (2009), 1183-1189.
- [14] G.S. Sălăgean, Subclasses of univalent function, in: *Lecture Notes in Math.*, Vol. 1013. Springer-Verlag, (1983), pp.362-372.
- [15] J. M. Shenan, Q. Salim and M. S. Marouf, A certain class of multivalent prestarlike functions involving the Srivastava Saigo-Owa fractional integral operator, *Kyungpooch Math. J.*, 44(2004), 353-362.
- [16] H. M. Srivastava, Operators of basic or  $q$ -calculus and fractional  $q$ -calculus and their applications in geometric function theory of complex analysis, *Iran. J. Sci. Technol. Trans. Sci.*, 44(2020), 327-344.

- [17] H. M. Srivastava, A. O. Mostafa, M. K. Aouf and H. M. Zayed, Basic and fractional  $q$ -calculus and associated Fekete-Szegő problem for  $p$ -valently  $q$ -starlike functions and  $p$ -valently  $q$ -convex functions of complex order, Miskolc Math. Notes, 20 (2019), no. 1, 489–509.

R. A. NASER, MATH.DEPT. FACULTY OF SCIENCE, MANSOURA UNIVERSITY, EGYPT.  
*Email address:* radwanasr13@gmail.com

A. O. MOSTAFA, MATH.DEPT. FACULTY OF SCIENCE, MANSOURA UNIVERSITY, EGYPT.  
*Email address:* adelaeg254@yahoo.com

S. M. MADIAN, BASIC SCIENCE DEPT. HIGHER. INSTIT. ENG. TEC. NEW DAMIETTA, EGYPT.  
*Email address:* samar\_math@yahoo.com